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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe in detail the scope and nature of 

Demography. 

tukafddh ds {ks= ,oa izd`fr ds ckjs esa foLr`r o.kZu dhft,A 

2. Discuss the Malthus theory in reference of India. 

Hkkjr ds lanHkZ esa ekYFkl fl)kUr dh O;k[;k dhft,A 

3. What do you mean by economic development ? 

Distinguish between growth, development and 

progress. 

vkfFkZd fodkl ls vki D;k le>rs gSa \ laòf)] fodkl ,oa 

izxfr esa vUrj crkb;sA 

4. Write short notes on any two of the following : 

(i) Stages of the development of the cities 

(ii) Characteristics of urban life 

(iii) Family welfare programme in India 

fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) uxjksa ds fodkl dh voLFkk,¡ 

(ii) uxjh; thou dh fo’ks”krk,¡ 

(iii) Hkkjr esa ifjokj dY;k.k dk;ZØe 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain in short, “Malthusian theories” of population. 

tula[;k ds ßekYFklokn fl)kUrÞ dh laf{kIr esa O;k[;k 

dhft,A 

2. Discuss the pattern of fertility and mortality in India. 

Hkkjr esa tUenj ,oa e`R;qnj dh izo`fŸk;ksa dh foospuk 

dhft,A 

3. Discuss Carr Saunders‟ theory of optimum population. 

vuqdwyre tula[;k ds dkj lkUMlZ ds fl)kUr dh foospuk 

dhft,A 

4. What are the main components of population growth in 

India ? 

Hkkjr esa tula[;k o`f) ds izeq[k ?kVd D;k gSa \ 

5. What do you understnad by fertility ? Descibe in brief 

various rates of its measurements. 

iztuurk ls vki D;k le>rs gSa \ blds ekius dh fofHkUu 

njksa dk la{ksi esa o.kZu dhft,A 
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6. Under what circumstances does population growth 

promote economic development ? 

fdu ifjfLFkfr;ksa esa tula[;k esa o`f) vkfFkZd fodkl dks 

izsfjr djrh gS \ 

7. Which non-economic factors are responsible for 

international migration of labour ? Discuss. 

dkSu ls xSj&vkfFkZd ?kVd Je ds vUrjkZ”Vªh; izoklu ds fy, 

ftEesnkj gSa \ foospuk dhft,A 

8. Critically examine the population control policy of 

Govt. of India. 

Hkkjr ljdkj dh tula[;k fu;a=.k uhfr dk vkykspukRed 

ijh{k.k dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. “Optimum population is that which gives maximum 

income per head.” (According to Dalton) 

ßvuqdwyre tula[;k ds fl)kUr ls izfr O;fDr vf/kdre 

vk; izkIr djrk gSAÞ   ¼MkYVu ds vuqlkj½ 
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2. Net Reproduction Rate cannot be greater than Gross 

Reproduction Rate. 

‘kq) iztuu nj ldy iztuu nj ls cM+h ugha gks ldrkA 

3. The sources of Demographic data is not the vital 

statistic registration. 

tukafddh; vk¡dM+ksa dk lzksr thoukad iathdj.k ugha gSA 

Fill in the blanks : 

fjDr fLFkku Hkfj, % 

4. Cohort of the life table is denoted by ............... . 

(a) l0  

(b) lx  

thou lkj.kh esa O;fDr;ksa ds lgx.k dks 
-----------

 }kjk iznf’kZr 

fd;k tkrk gSA 

¼v½ 0l  

¼c½ lx  

5. Vital rates are generally expressed as ............ . 

(a) Per thousand 

(b) Per hundred 

thou nj dks lkekU;r;k 
---------------

 esa O;Dr fd;k tkrk gSA 

¼v½ izfr gtkj 

¼c½ izfr lkS 

6. Family planning programme was introduced in ........ . 

(a) 1951 

(b) 1991 
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ifjokj fu;kstu dk;ZØe 
------------------

 esa ykxw fd;k x;k FkkA 

¼v½ 1951 

¼c½ 1991 

7. A life table consists of : 

(a) Eight columns 

(b) Nine columns 

(c) Seven columns 

(d) None of the above 

thou lkj.kh esa gksrs gSa % 

¼v½ vkB dkWye 

¼c½ ukS dkWye 

¼l½ lkr dkWye 

¼n½ mi;qZDr esa ls dksbZ ugha 

8. An abridged life table can be constructed by the 

method suggested by : 

(a) Greville 

(b) Reed and Manell 

(c) King 

(d) All of the above 

laf{kIr thou lkj.kh fuEu ds lq>ko }kjk cuk;h x;h % 

¼v½ xzsfoys 

¼c½ jhM ,oa eSusy 

¼l½ fdax 

¼n½ mi;qZDr lHkh ds }kjk 
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9. Crude Birth Rate is calculated with formula : 

(a) 
P

100
B

  

(b) 
B

1000
P

  

(c) 
B

100
Px

  

(d) None of these 

v’kksf/kr e`R;q&nj dh x.kuk fuEu lw= ls dh tkrh gS % 

¼v½ 
P

100
B

 

¼c½ 
B

1000
P

 

¼l½ 
B

100
Px

 

¼n½ buesa ls dksbZ ugha 

10. Child Bearing Age in India is : 

(a) 10-15 year 

(b) 15-19 year 

(c) 50-65 year 

(d) None of these 

Hkkjr esa xHkZ/kkj.k dky gksrk gS % 

¼v½ 10&15 o”kZ 

¼c½ 15&19 o”kZ 

¼l½ 50&65 o”kZ 

¼n½ buesa ls dksbZ ugha 
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